e L L = v A=
b HBESHES GUExT) (o 9EE)
(BEAT : 5 H)
B o4& B B OE | NMERAEME  WELELE| 64AFEE | wsEEE| AiFEL
5 t = 8,910 { 100.0 % 9,266 | 100.0 %| 104.0 %
LB E | 820 835
ﬁ [ I N = 5, 300 5, 652
o o B i 5 TR A 0 0
i LR 820 835
* G ok 5, 300 59. 5 5,652 61.0 106. 6
* 5% F #& F & 3,610 40. 5 3,614 39.0 100. 1
= B % 780 780 100. 0
B w BB OB 1,181 1,225 103. 7
T M R R 375 380 101.3
m | WA % 78 75 96. 2
| T O R E R 946 945 99. 9
* G ok 3, 360 37.7 3, 405 36.7 101. 3
*x B X A # 250 2. 209 2.3 83.6
=2 BOF E 0 0 skt
¥ |2 o fh X 3% 0 0 sokskokok
AN YE AT = 0 0.0 0 0.0 skl
X B R OB 94 90 95. 7
¥ 0 o fih B H 6 8 133.3
SR FE ox 100 1.1 08 1.1 98.0
*x 8 B O K 150 1.7 111 1.2 74.0
S 1| B 1 A 0 0.0 0 0.0 koK
el BFoB O EOA 0 0 o
Bl L F o fh B K 0 0 sekstofok
Bk * 3 % 0 0.0 0 0.0 o
IR 150 1.7 111 1.2 74. 0
- N % % %
j‘j{ BB M A
w MR MR
* %
e & kB B
R A -
# * GF %
A | R N
e | Bl B #
Z O R
® * At
®oE B
L N e
S S i




L BrpRELEER I

(HAL - )
B EE Bl HA S B &
64 A& 64 A& 64 A&%E HEM et
5t i = 8,910 9, 266 9,030 8,970
% &) # 5, 300 5, 652 5,519 5, 483
R & 7 = 3,610 3,614 3,511 3,487
A & 2, 336 2,385 2, 098 2,176
A fE A 2 78 75 48 48
E | 4B 1l 94 90 54 51
o EE E 952 953 851 858
CEZVEV Y, 0 0 0 0
it 3, 460 3,503 3,051 3,133
® % M & 150 111 460 354
S 1/ I = N 0 0 0 0
TR 150 111 460 354
BRSEETEES 8, 543 8, 982 7,843 8, 054
R & # & = 40.5 % 39.0 % 38.9 % 38.9 %

AREIZEITT, T®EAHI & TFH/EHI ITOVWTHERLTHELE S,
@ BREICHDER I3D0DH] &2

EEN = E&Al x TEXH] x TE8EA]
@ EmA = B& (P—ERX) ZEAHHETH
Q@ EXH =@M (Y—EX) 2%5N
@ EESH = BEFHOIRTEABICIRIOAVIT LN

@ [FLADIKERI ZEHBICIE?
e Eh1 = TEEH x TERFEHEM] x BEHAE]
@ BEH = FLLBEKRZELY
@ BRFEEM = — ALY ORFTHEEEOT
Q HMEHE = VE—FEZETS



SEO IHPREREE] 245 EBEBLTRYIES L
@ FiRELEIL-- EBEER RS Y

P (A . BH) TEHE
= Lt =3 9, 266 61.0 %
r B B 5, 652 = BT ®
EETE 3,614 100.0 % | BREFZ | 37.8 %
B EF & 3, 503 39.0 % BER L
BE A S 111 1.2 %

@ FHRAEFTOEBELLLRBZE - FHRAEERA RS

FiBEE ATEAR A == TENE
= 5 9,266 8,910 356 59.5 %
Pl 5, 652 5,300 352 = & & &
R 5 #| 4% 3,614 3,610 4 100.0 % FR 5% 1 4% 38.8 %
B E B 3,503 3, 460 43 40.5 % BER R
R 111 150 -39 1.7%
® SHFBAFEFTOBRIELLERSE - SHRABER FS VY
P R A B =8 TENE
= 5 9, 266 9,030 236 61.1 %
Pl 5, 652 5,519 133 = & & &
PR 3R F 2% 3,614 3,511 103 100.0 % | FREFIZ 33.8 Y
B ¥ & 3,503 3,051 452 38.9 % BERE
75 R % 111 460 -349 5.19%
® SHREL-ZYMBIEEZMZASE-- RELEEZERNSYY
#RxEE RIUMRE | RELEE TEE
= 5 9, 266 8,970 18, 236 61.1 %
P 5, 652 5,483 11,135 = & & &
PR 5 F 2% 3,614 3,487 7.101 100.0 % | FREFIZ 36.4 %
B E B 3,503 3,133 6, 636 38.9 % REF 2
78R % 111 354 465 2.5 %
@ FIFFRIEREHRLSE - FIEERR RSy
RELBE | A& =8 TEE
= 5 18, 236 16, 200 2,036 61.2 %
T 5 B 11,135 9,915 1,220 = & &
PR R F 35 7,101 6, 285 816 100.0 % | FREFIZ 38.5 %
B ¥ & 6, 636 6, 237 399 38.8 % REF 2
e 465 48 417 0.3 %
@ SHIFHMBELHERSE - FRIBER RSy
RELBE | FHBE =2 TEE
= 5 18, 236 18, 000 236 61.1 %
T 5 B 11,135 11,002 133 r“—tJ:TE,‘ & & &
PR R F 25 7,101 6, 998 103 100.0 % | FREFIZ 34,4 %
B E B 6, 636 6, 184 452 38.9 % REF %
R TE R 465 814 -349 4.5 %

(3)




SEo TREL-FEBE] Z22EL,
BEEREZRBESEFL LD,

O REL-EMBROFMZRA NIV IICTSHE

(BAL . HH)
IN5E 17, 236
iEN5E 1, 000 (% & &) 11,135
A B E 4,561
RMEE 123
(PR SR F%%) % | 141
7,101 D EEE 1, 811
(B & &) 6, 636
FLts) 18, 236 (BEFE) 465
@ T LHENVEICRITT
TLEERXRS FRBE ZFiBEE RER Y ZEBE
IN5E 17, 236 8, 766 8,470
{EN5E 1,000 500 500
& &t 18, 236 9,266 8,970
® HENEREINS &
= R EE 3R BTEALL 2 = =B
R SR 51| 25 3= 38.9 % 38.8 % 0.1 % 7y~
SELEEERRE 2.5 % 0.3 % 2.2 % 7y

558 53 B == 64.2 % 68.0 % 3.8 % A9y



